MAT 035 Module 6 Pra

1.

2;

ctice Test Problems/Review for Final

Forty CEOs we\rf surveyed and asked what kind of degree they had received. The results of the
survey are shown in the table below.

Degree Frequency Relative Frequency
High School 2 < ?{
Bachelor's 7 1=.8%

MBA 20 So¥%
Master's 3 2.8°
Law B l 0%
PhD 4 l 0 o/b
- 100%

Is the data in the table qualitative or quantitative?

MW

Complete the relative frequency table. State your answers in percents, rounded to the
nearest tenth of a percent. Be sure to verify that your column sums to 100%.

dhore

What kind of graph would be appropriate to display the data in the table? Explain.

pree 0/( M&?&@M)

Fill in the following table:
Type of f:;z:aunt:y relative frequency relative frequency
employment (# of students) (fraction in lowest terms) (in percent)
federal S
e )
government a2 3‘1. }‘i . ?'} /o
state/local 48 YA 28, 24 z
government "-s?—g-.
own B . °
business &2 29 2o, Ty A
private 2 |
company/ 62 'E,—" 36. q’?o/o
business s

Tot A




3. Explain why the graph showh below is misleading.
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4. Explain why the !Far graph below is misleading.
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5. Explain why a pie With Occlusions,  African-
§ 20.70% American,
chart is not an (" 7.50%
appropriate graph
for the data With Facial

displayed. What Hair, 24.50%

would be a better
graph type? Sketch
such a graph in the
space provided.
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6. Make a stem-leaf plot for the given data:

45, 3,36, 58, 34, 4% 19, 147,53, 15,35, 36, 47,47, 29, 38, 43, 948’
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a. In this stem-leaf plot, what is the modal class of the data?

(
40's

7. Given the following weight data in pounds (starting with 120), find the following:

stem leaf
12 057 a. sample mean: 133, |
13 3389 b. sample median: 123. 5
14 016 7 c. sample std. deviat;on: 23, {Z
15 25 d. sample mode: _ _ [33
16 8

e. Is the shape of the distribution of the weight data
symmetric, skewed left, or skewed right? Circle one.
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8. The data for two
Maths test sc

b. What do you noj
the distribution
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Class 1

1% T 4
149" Jo% 3
68 8% p
Use the data to ¢
(legend) explaini

these?

(lass |

Find the mean and standard deviation of Class 1.
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tests in a math class is shown below.
Dres as percentages Class 2

P L% P o5 4%

2% 78% 48% 4696 4496 J% 48% 50%
4% 81% 5195 5896 60% 43% 48% 30%

r..s,/b
onstruct a comparative stem-and-leaf plot of the data. Be sure to include a key

ng how to interpret the graph. 4
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ice about the distribution of scores of the two classes? Describe the shape of
or each class: is each symmetric, uniform, skewed right, skewed left or none of
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9. The length of Greek tragedies, in words, is measured and plotted on the'graph below. Use the
graph to answer|the questions that follow.

Length of Greek Tragedies in Wor‘s
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a. How many tragedies were included in this graph?

32

b. Which class |s the modal class?

—fo00 - 800D wode

¢. What percent of Greek tragedies are longer than 10,000 words?
= = (.25%
32 ' -

d. In which class does the median tragedy fall?




10. You have calcula
a. thedataiss

b.
c.

the datais s
there is negz
all of the ob

vou have ma

11. The following ta
doing jumping ja

ted the standard deviation for a set of data to be —2.5. You can conclude that
kewed to the left

kewed to the right

itive variation in the data

servations in the data set are negative
de an error in your calculations

Stardaud. Azl W{-&W

ole shows the heart rate of students in a conditioning class after 1 minute of
cks (beats per minute).

Construct a boxplot for t
and also show the 5-nun
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12. Use the data in t

he table below to answer the questions that follow.

CUSTOMER WAITING TIME IN SECONDS (h=32)
10.4 12.0 18.7 15.2 11.8 12.0 145 113
169 12.4 11.4 10.7 102 13.9 131 ) 5§
12.5 14.3 10.4 16.4 114 10.6 129 11.2
17.3 11.4 11.2 203 129 20.0 14,2 11.6
a. Find the 5-number summary of the data. [Hint: Sort the data first.]

M 102

Q. = IS

Med=122
82 = /S

Jiss D

e



b. Use the 5-number summary you found to draw a box-and-whisker plot of the data. Draw
your graph to scale.
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13. Using the boxplo
the following:

a. shape of data distribution:

t to the right, give ‘
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b. median:
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14. Which statistic is

§n

a) mean

least resistant to an extremely large value in a data set?
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15. What is a major advantage of a stem-and-leaf diagram over a histogram?

Steon-and Leat proaecvee 7iu At

16. In a random sample, 13 students were asked to count how much cash they were carrying. The
results rounded to the nearest dollar are: 20, 45, 10, 80,150, 5, 0, 20, 30, 20, 22,10, 36. Give the
following for the|sample:

a. standard deviation: 4‘0 ‘H

b. range: ]ISO-0 = ISO

c. Interquartile|range:

oS- 0= 308

17. Construct a tree diagram of the outcomes in the sample space for rolling a 4-sided die and
flipping a coin.
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a. List the sample space.
b. What is the probability of getting an even number and a head?
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18. Answer the ques

tions that follow based on the scatterplot shown below.

how long the
flight takes
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What is the sign of the correlation of the regression line? Positive, negative or zero?
Do you think that the correlation is strong, moderate or weak?

Use the regr

i

ession line shown on the graph to predict the duration of a flight that is 4000

miles long. How long is that in hours?

0. 11 54 (4000) + 3,212 =

Use the regr

think you est

L1584 (

Interpret the

i
3

WA y.S mus

abat 3.3 hrs

assion line to predict the duration of a flight that is 11,000 miles long. Do you
imate is reasonable? Why or why not?

l000) +36 912 = [306.3 ripin.  (alomt 2R s )

g o Ll
slope in the context of the problem. ‘
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f. Interpret the|intercept in the context of the problem.
MM- MW J ﬂu&o 2 %w. s nu.a( M
37 mnaAfTd

19. Sometimes our data is too bunched up to make a good stem-and-leaf plot, like the one shown
below.

Stem | Leaves

6 4789
7 022222333444356667
8 00011222
1 Key: 6|4=64
Instead, we can split the|stems into Low and High stems, as shown below.
Stem | Leaf
6|4
6789
7022222333444
This gives us a little more 71356667 detail of the distribution. :
) 8000111222
Use the split-stem stem- 3 and-leaf plot below to answer the

questions that follow.
Split Stems for Truncated Cereal Sodium Values
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Key: 1|5=15

a. What is the highest amount of sodium found in the breakfast cereals sampled?

34

b. What is the mode of the distribution?

/2
A

c. Find the median.




20. Sketch the Empirical Rule on the blank curve below. Mark your units as one standard deviation
L~

each.

T97%

21. Scores on an |Q test have a mean of 100 and a standard deviation of 15. Sketch the distribution

on the blank gra
130.

ph below, and use that to determine the percentage of scores between 70 and

o zs }oo TE rso 145

22. The SAT Math test have a mean score of 500 and a standard deviation of 120. Use the Empirical
Ruleg to determine what percent of students scored above 740 on the SAT Math test.

23

24.

The ACT hasam

790570

joagS= 2 5°
=2 W 254

an score of 21.6 and a standard deviation of 5.2. Use the Empirical Rule to

determine what percent of students scored below 15 points. (The ACT only scores in integer

points, so calcula

te the percent below 15.4, the nearest standard deviation mark to 15.)

loo—¥ = 6%

To calculate the percentile of a number in a sorted dataset, find N the total number of points in

the dataset, and

_ the location of the number whose percentile you want to calculate (L is the

numerical position is in the dataset, not its value, for instance, if you have a dataset like 1 ,4,5,

6,9, 10, 13, then
and N is 7 since t
the given value.

the value of L for the value 4 is 2 since it’s the second position in the dataset,
here are 7 numbers). A percentile tells you the percent of the data at or below




Consider the data below. Round your answers down to the n
value is over 99%).
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